
www.E
Tu

S-
La

nd
gr

af.
co

m

39

KDC-MP928/PSW9531
/PSW9531Y, XXV-01D

EXPLODED VIEW (UNIT)

Parts with the exploded numbers larger than 700 are not supplied.

3

2

1

DC

FC1

DME1

F1

FPC1

PME1

PA1

PM1

(X34-)

(X16-257)

for KDC-MP928 (X16-257)

(X16-307)

(X16-307)

(X34)
W400

A1

FC2

ED1

PA1

K
L
M
P
Q
R
S
T
V

M2x1.8
M2x2.5
φ2.6x6
φ2x8
φ3x5
φ3x8
φ2x4
φ3x10
φ3x20

: N09-6286-05
: N09-6326-05
: N78-2660-48
: N80-2008-43
: N83-3005-48
: N83-3008-48
: N86-2004-43
: N80-3010-48
: N83-3020-48

A
B
C
D
E
F
G
H
J

M2x2
M1.7x2
M2x2
M2x2.5
φ1.7x4.5
φ3.05x5.83
φ1.6x4
φ1.2x3
E RING

: N09-6269-05
: N09-6140-05
: N09-6141-05
: N09-6142-05
: N09-6190-05
: N19-2305-04
: N19-2184-04
: N19-2193-04
: N24-3015-60

Q

Qx2

Px2

Px2

Dx2

Ex2

Q

H
B

B

H

K

J

A

SIZE AA BATTERY
(Not supplied)

RM1

DC2

DC1

280

277

259

210

201

281

282

276

218x2

234

236

241

792254
211

206

275

267
215 269

248

250

270

216 266

268

250

273 209

217

784

771772

788

738

742
757

793

785

791

243x2

243x2

243x2

243x2

207

205

287
783

705
704

252231

232
231

247

222
246

256

261

255

249

220
245

219

249

264

260

230

253

253253

227

264

226

702

229

723

203

204

Vx2
V

S

M

D

H

L

M

Q

C

G

C
F

Q

T

Qx2

Rx4

R

Depends on the models. Refer to the parts list.


